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Fruin LoS Criteria for Walkways

A B C D E F

Density 0 0.31 0.43 0.72 1.08 2.15 pax/m2

Space ∞ 3.25 2.32 1.39 0.93 0.46 m2/pax

Flow 0 23.0 32.8 49.2 65.6 82.0 pax/min/m
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https://www.rms.nsw.gov.au/business-industry/partners-suppliers/document-types/guides-manuals/walking-space-guide.html
https://www.rms.nsw.gov.au/business-industry/partners-suppliers/document-types/guides-manuals/walking-space-guide.html


 

 

 

 

 

http://content.tfl.gov.uk/pedestrian-comfort-guidance-technical-guide.pdf
http://content.tfl.gov.uk/pedestrian-comfort-guidance-technical-guide.pdf
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https://sgsa.org.uk/greenguide/
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CALIBRATION AND VALIDATION PROCESS OF BASE YEAR SCENARIO 

Validating stability of 
simulation results 

Calibrating pedestrian 
flow & parameters 

Validating simulation 
results with ground truth 

conditions  

iterations 
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The maximum average Queue population (QP) for demand ( d ), 

previous queue size ( Q ) and capacity ( c ) is given by: 

𝑄𝑃 = d + Q - c 

Only when d + Q > c 

If  d + Q < c then no queue forms. 

The approximate time spent in queue can be calculated based 

on the above example.  If a queue (Q) exists with a process of 

capacity ( c ) the maximum delay is : 

Q / c 
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